TUIR

USTED IR

TU COMER

TU DECIR

USTED VER
USTEDES IR
USTED PODER
USTED JUGAR
USTED COMER
USTED ABRIR
NOSOTROS VER
USTEDES ABRIR
USTEDES VIVIR
NOSOTROS LEER
USTEDES VENIR
NOSOTROS TRAER
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TU VER

TU CAER

TU JUGAR

TU PODER

USTED OIR
USTED CAER
USTED TENER
USTED CREER
USTED DECIR
USTED SABER
USTED HABLAR
NOSOTROS CAER
USTEDES PONER
USTEDES JUGAR
USTEDES HABLAR
NOSOTROS TENER
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Imperfect of subjunctive
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TU DAR

TU OIR

TU TENER

USTED DAR
USTED LEER
USTED PONER
USTED VENIR
USTEDES VER
USTED VIVIR
NOSOTROS DAR
USTEDES DECIR
USTEDES SABER
USTEDES TENER
USTEDES COMER
USTEDES BUSCAR
USTEDES SENTIRSE
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